

Κατεύθυνση Β' Λυκείου, Λύσεις

Θεμα Α

A1 $\lim_{x \rightarrow 1^-} \frac{x^2 + 4x + 3}{x^2 - 1} = \lim_{x \rightarrow 1^-} \frac{(x+1)(x+3)}{(x-1)(x+1)} = -1$

$\lim_{x \rightarrow 1^+} (kx + f) = -k + f$

Αρα $-k + f = -1$ (1)

$\lim_{x \rightarrow 1^-} (kx + f) = k + f$

$\lim_{x \rightarrow 1^+} \frac{x - \sqrt{2-x}}{x - \sqrt{x}} = \lim_{x \rightarrow 1^+} \frac{x^2 + x - 2}{(x - \sqrt{x})(x + \sqrt{2-x})} = \lim_{x \rightarrow 1^+} \frac{(x+2)(x-1)}{\sqrt{x}(\sqrt{x}-1)(x+\sqrt{2-x})} =$

$= \lim_{x \rightarrow 1^+} \frac{(x+2)(\sqrt{x}-1)(\sqrt{x}+1)}{\sqrt{x}(\sqrt{x}-1)(x+\sqrt{2-x})} = \frac{3 \cdot 2}{2} = 3$

Αρα $k + f = 3$ (2)

$$\begin{cases} -k + f = -1 \\ k + f = 3 \end{cases} \quad \begin{matrix} 2f = 2 \Rightarrow \\ f = 1 \\ k = 2 \end{matrix}$$

A2 Εστω $g(x) = \frac{(x^2-1)f(x) + \sqrt{x+3} - 2}{x-1}$ $f \in \lim_{x \rightarrow 1} g(x) = \frac{25}{4}$

$\stackrel{x \neq 1}{\Leftrightarrow} (x-1)f(x) + \sqrt{x+3} - 2 = (x-1)g(x) \Leftrightarrow$

$\Leftrightarrow f(x) = \frac{(x-1)g(x) + 2 - \sqrt{x+3}}{x^2-1}$. Το ε

$\lim_{x \rightarrow 1} f(x) = \lim_{x \rightarrow 1} \left[\frac{g(x)}{x+1} - \frac{\sqrt{x+3}-2}{x^2-1} \right] =$

$$= \lim_{x \rightarrow 1} \left[\frac{g(x) - \cancel{x-1}}{(x-1)(\sqrt{x+3}+2)(x+1)} \right] = \frac{25}{8} - \frac{1}{8} - \frac{24}{8} = 3$$

$$\textcircled{11} \lim_{x \rightarrow 1} \frac{f^2(x) - 3f(x)}{\sqrt{f(x)+1} - 2} = \lim_{x \rightarrow 1} \frac{f(x) \cancel{[f(x)-3]} (\sqrt{f(x)+1} + 2)}{f(x) - 3} = 12$$

A3 ϵ σ ω $u = \sqrt[6]{x+3}$. Τοτε $u_0 = \lim_{x \rightarrow -2} \sqrt[6]{x+3} = 1$

ϵ ω ω $u^2 = \sqrt[3]{x+3}$, $u^3 = \sqrt{x+3}$ ω $u^6 = x+3 \Leftrightarrow x = u^6 - 3$.

Ομοτε εχουμε $\lim_{u \rightarrow 1} \frac{u^3 + u^6 - 2}{u^3 + u^2 - 2} = \lim_{u \rightarrow 1} \frac{(u^3 + 2)(u^3 - 1)}{u^3 + u^2 - 2} =$

$$= \lim_{u \rightarrow 1} \frac{(u^3 + 2)(u-1)(u^2 + u + 1)}{(u-1)(u^2 + 2u + 2)} = \frac{9}{5}$$

B1 $f^2(x) - 2xf(x) \leq \omega^2 x - 2x\omega x \Leftrightarrow$

$$\Leftrightarrow f^2(x) - 2xf(x) + x^2 \leq \omega^2 x - 2x\omega x + x^2 \Leftrightarrow$$

$$\Leftrightarrow (f(x) - x)^2 \leq (\omega x - x)^2$$

$$\Leftrightarrow |f(x) - x| \leq \sqrt{(\omega x - x)^2} \Leftrightarrow$$

$$\Leftrightarrow -|\omega x - x| \leq f(x) - x \leq |\omega x - x| \Leftrightarrow$$

$$\Leftrightarrow x - |\omega x - x| \leq f(x) \leq x + |\omega x - x|$$

$$\left. \begin{aligned} \lim_{x \rightarrow 0} (x - |\omega x - x|) &= 0 \\ \lim_{x \rightarrow 0} (x + |\omega x - x|) &= 0 \end{aligned} \right\} \text{Απο κ.π. } \lim_{x \rightarrow 0} f(x) = 0$$

B2 lozenica $\lim_{x \rightarrow 2} f(x+3) = 4 \xleftrightarrow[u \rightarrow 5]{u = x+3} \lim_{u \rightarrow 5} f(u) = 4$

Poroc $\lim_{x \rightarrow -5} f(x) \xrightarrow[y \rightarrow 5]{y = -x} \lim_{y \rightarrow 5} f(-y) \xrightarrow[\lim_{y \rightarrow 5} f(y) = 4]{\text{Spremen}} - \lim_{y \rightarrow 5} f(y) = -4$

B3 Av $4\sqrt{x} \leq f(x) \leq x+4$ lozenica

① $\lim_{x \rightarrow 4} = 8$ } Aπo Kπ $\lim_{x \rightarrow 4} f(x) = 8$
 $\lim_{x \rightarrow 4} (x+4) = 8$

② ① $\Leftrightarrow 4\sqrt{x} - 8 \leq f(x) - 8 \leq x - 4$

za $x < 4$

$\frac{4(\sqrt{x}-2)}{x-4} \geq \frac{f(x)-8}{x-4} \geq \frac{x-4}{x-4}$

$\lim_{x \rightarrow 4^-} \frac{4(\sqrt{x}-2)}{(\sqrt{x}-2)(\sqrt{x}+2)} = 1$ } Aπo Kπ $\lim_{x \rightarrow 4^-} \frac{f(x)-8}{x-4} = 1$
 $\lim_{x \rightarrow 4^-} \frac{x-4}{x-4} = 1$

za $x > 4$

$\frac{4(\sqrt{x}-2)}{x-4} \leq \frac{f(x)-8}{x-4} \leq \frac{x-4}{x-4}$

$\lim_{x \rightarrow 4^+} \frac{4(\sqrt{x}-2)}{(\sqrt{x}-2)(\sqrt{x}+2)} = 1$ } Aπo Kπ $\lim_{x \rightarrow 4^+} \frac{f(x)-8}{x-4} = 1$
 $\lim_{x \rightarrow 4^+} \frac{x-4}{x-4} = 1$

Apa $\lim_{x \rightarrow 4} \frac{f(x)-8}{x-4} = 1$

$$\textcircled{\text{iii}} \lim_{x \rightarrow 4} \frac{f^2(x) - 64}{x - 4} = \lim_{x \rightarrow 4} \left[\frac{f(x) - 8}{x - 4} (f(x) + 8) \right] = 16$$

$$\textcircled{\text{iv}} \lim_{x \rightarrow 4} \frac{\sqrt{f(x)+1} - 3}{x - 4} = \lim_{x \rightarrow 4} \left[\frac{f(x) - 8}{x - 4} \cdot \frac{1}{\sqrt{f(x)+1} + 3} \right] = \frac{1}{6}$$

$$\textcircled{\text{v}} \lim_{x \rightarrow 4} |f(x) - 5| = 3 > 0 \text{ apa } f(x) - 5 \geq 0 \text{ uorta ozo } 4.$$

$$\text{Apa } |f(x) - 5| = f(x) - 5$$

$$\lim_{x \rightarrow 4} \frac{f(x) - 5 - 3}{x^2 - 5x + 4} = \lim_{x \rightarrow 4} \frac{f(x) - 8}{(x-4)(x-1)} = \frac{1}{3}$$

~ . ~

ΘΕΜΑ Γ

Γ1) Σχολικό Βιβλίο -> σελ. 191

- Γ2) 1) Σωστό
2) Λάθος
3) Σωστό
4) Λάθος
5) Λάθος

Γ3) i) Έχουμε: $\frac{x^3}{4} + \frac{x^2}{2} - 5x + 6 = 0 \Leftrightarrow x^3 + 2x^2 - 20x + 24 = 0$
 $\Leftrightarrow (x-2)(x^2 + 4x - 12) = 0$

1	2	-20	24	2
	2	8	-24	
1	4	-12	0	

 $\Leftrightarrow (x-2) \cdot (x-2)(x+6) = 0$
 $\Leftrightarrow (x-2)^2 \cdot (x+6) = 0$
 $\Leftrightarrow \boxed{x=2}$ ή $\boxed{x=-6}$

ii) Έχουμε: $\sqrt{x+7} + \sqrt{6-x} = 5$ ①

Πρέπει: $\left. \begin{array}{l} x+7 \geq 0 \Leftrightarrow x \geq -7 \\ 6-x \geq 0 \Leftrightarrow x \leq 6 \end{array} \right\} \Rightarrow \boxed{-7 \leq x \leq 6}$

Από (1) $\Leftrightarrow (\sqrt{x+7} + \sqrt{6-x})^2 = 5^2$
 $\Leftrightarrow \sqrt{x+7}^2 + 2\sqrt{x+7} \cdot \sqrt{6-x} + \sqrt{6-x}^2 = 25$
 $\Leftrightarrow x+7 + 6-x + 2\sqrt{(x+7)(6-x)} = 25$
 $\Leftrightarrow 2\sqrt{6x-x^2+42-7x} = 12$
 $\Leftrightarrow \sqrt{-x^2-x+42} = 6$
 $\Leftrightarrow -x^2-x+42 = 36$
 $\Leftrightarrow x^2+x-6 = 0$
 $\Leftrightarrow \boxed{x=-3}$ ή $\boxed{x=2}$
 δικά ή δικά



Γ4) i) Έξουχεται: $\frac{3x^2 - 6x + 2}{x - 2} - \frac{2}{(x - 1)(x - 2)} - \frac{x^2 - 5x + 6}{x - 1} \geq 0$ $\begin{cases} x \neq 1 \\ x \neq 2 \end{cases}$

$\Leftrightarrow \frac{(x - 1)(3x^2 - 6x + 2) - 2 - (x - 2)(x^2 - 5x + 6)}{(x - 1)(x - 2)} \geq 0$

$\Leftrightarrow \frac{3x^3 - 6x^2 + 2x - 3x^2 + 5x - 2 - 2 - x^3 + 5x^2 - 6x + 2x^2 - 10x + 12}{(x - 1)(x - 2)} \geq 0$

$\Leftrightarrow \frac{2x^3 - 2x^2 - 8x + 8}{(x - 1)(x - 2)} \geq 0$

$\Leftrightarrow 2 \cdot (x^3 - x^2 - 4x + 4) \cdot (x - 1) \cdot (x - 2) \geq 0$

$\Leftrightarrow (x - 1)(x^2 - 4)(x - 1)(x - 2) \geq 0$

$\Leftrightarrow (x - 1)(x - 2)(x + 2)(x - 1)(x - 2) \geq 0$

$\Leftrightarrow (x - 1)^2 (x - 2)^2 (x + 2) \geq 0$

$\Leftrightarrow x + 2 \geq 0$

$\Leftrightarrow x \geq -2$

και $x \neq 1, x \neq 2$

$\Rightarrow x \in [-2, 1) \cup (1, 2) \cup (2, +\infty)$

1	-1	-4	4	1
	1	0	-4	
1	0	-4	0	

ii) Έξουχεται: $\sqrt{2x + 1} \leq \sqrt{x + 3}$ ①

πρηνει: $\begin{cases} 2x + 1 \geq 0 \Leftrightarrow x \geq -\frac{1}{2} \\ x + 3 \geq 0 \Leftrightarrow x \geq -3 \end{cases} \Rightarrow \left(x \geq -\frac{1}{2} \right)$

Ανι $(\vee) \Leftrightarrow \sqrt{2x + 1}^2 \leq \sqrt{x + 3}^2$

$\Leftrightarrow 2x + 1 \leq x + 3$

$\Leftrightarrow (x \leq 2)$

αίρα

$x \in \left[-\frac{1}{2}, 2\right]$

ΘΕΜΑ Δ

Έχουμε: $f(x) = x^4 - 8x^3 + (5a-1)x^2 + 8x - 3a - b$

και δίνονται: $f(-1) = 0$ και $f(-2) = 105$

$$\begin{aligned} \textcircled{A1} \quad & \left. \begin{aligned} f(-1) = 0 \\ f(-2) = 105 \end{aligned} \right\} \Leftrightarrow \left. \begin{aligned} (-1)^4 - 8(-1)^3 + (5a-1)(-1)^2 + 8(-1) - 3a - b = 0 \\ (-2)^4 - 8(-2)^3 + (5a-1)(-2)^2 + 8(-2) - 3a - b = 105 \end{aligned} \right\} \Leftrightarrow \\ & \left. \begin{aligned} 1 + 8 + 5a - 1 - 8 - 3a - b = 0 \\ 16 + 64 + 20a - 4 - 16 - 3a - b = 105 \end{aligned} \right\} \Leftrightarrow \left. \begin{aligned} 2a - b = 0 \\ 17a - b = 45 \end{aligned} \right\} \Leftrightarrow \\ & \left. \begin{aligned} b = 2a \\ 17a - 2a = 45 \end{aligned} \right\} \Leftrightarrow \left. \begin{aligned} b = 2a \\ 15a = 45 \end{aligned} \right\} \Leftrightarrow \begin{aligned} b = 6 \\ a = 3 \end{aligned} \end{aligned}$$

Άρα: $f(x) = x^4 - 8x^3 + 14x^2 + 8x - 15, x \in \mathbb{R}$

$\textcircled{A2}$ Είπαμε $f(x) = 0 \Leftrightarrow x^4 - 8x^3 + 14x^2 + 8x - 15 = 0$

$\Leftrightarrow (x-1)(x^3 - 7x^2 + 7x + 15) = 0$

$\Leftrightarrow (x-1)(x+1)(x^2 - 8x + 15) = 0$

$\Leftrightarrow x-1=0 \vee x+1=0 \vee x^2 - 8x + 15 = 0$

$\Leftrightarrow \boxed{x=1} \quad \boxed{x=-1} \quad \boxed{x=3} \vee \boxed{x=5}$

1	-8	14	8	-15	1
	1	-7	7	15	
1	-7	7	15	0	
1	-7	7	15	-1	
	-1	8	-15		
1	-8	15	0		

$\textcircled{A3}$ Είπαμε: $f(x) < 0 \Leftrightarrow (x-1)(x+1)(x^2 - 8x + 15) < 0$

x	$-\infty$	-1	1	3	5	$+\infty$		
$x-1$	-	-	0	+	+	+		
$x+1$	-	0	+	+	+	+		
$x^2 - 8x + 15$	+	+	+	0	-	0	+	
$f(x)$	+	0	-	0	+	-	0	+

άρα $\boxed{x \in (-1, 1) \cup (3, 5)}$

- Δ4
- Αφού $-\sqrt{3} < -1$, τότε $f(-\sqrt{3}) > 0$
 - Αφού $-1 < \frac{1921}{2021} < 1$, τότε $f\left(\frac{1921}{2021}\right) < 0$
 - Αφού $1 < \sqrt{5} < 3$, τότε $f(\sqrt{5}) > 0$
 - Είναι $\frac{10}{\sqrt{10}} = \frac{10 \cdot \sqrt{10}}{10} = \sqrt{10}$
 - Αφού $3 < \sqrt{10} < 9$, τότε $f(\sqrt{10}) < 0$
 - Αφού $29 > 5$, τότε $f(29) > 0$

$$\text{Άρα: } \Pi = \underset{(+)}{f(-\sqrt{3})} \cdot \underset{(-)}{f\left(\frac{1921}{2021}\right)} \cdot \underset{(+)}{f(\sqrt{5})} \cdot \underset{(-)}{f(\sqrt{10})} \cdot \underset{(+)}{f(29)}$$

οπότε $\boxed{\Pi > 0}$